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MENSURATION 2D (AREA) ASSIGNMENT

The area of field is the shape of trapezium measures 1440 m2. The
perpendicular distance between parallel sides is 24m. If the ratio of parallel
sides is 5 : 3, then the length of longer parallel side is

QM FTUIe] BIB&EISIHEr  ugliuene 1440 S5 Srewih Semenis  CHTHEHE
BB 2 eten  QFRIGHH Camlger e wgd 24 15 Guoeud Byewi(
Aewent CHTBHeT aldBHD D:3 aaied GUilu BenewiGHTL 96T HeTLOTETS)

a. 45m b. 60m c. 75m d. 120m

The length if building is 40 m and its breadth is 20 m. A path of the width 1
m is made all round the building outside. Find the area of the path.

am slyLdHear memd 40 15 et @b 20 5 slgLHmg  SBY
Qeualufed 1 15 SIBHHABE ULTMSH DIMDSSLILILIQHHSHTEL LiTenHullesr LIl
61631601 7

a. 144 m? b. 134 m? c. 124 m? d. 104 m?

For a triangle ABC, the true statement is

w&Cxmewid ABC uled 61g 2 _eWienid aUTHHUWID 6T60Idh Fnl
a. AC2= AB? + BC? b. AC=AB + BC

c. AC>AB + BC d. AC<AB+BC

The angle in semicircle is a
a. acute angle b. obtuse angle c. straight angle d. right angle
ST L GHFH60 Slenou]d Gmemrid .

a. GumBsreanid b. alfGsmewibd c. GpT Gammewid d. GamGsmeniid

Which of the following statement is false in a Parallelogram?
a. The opposite sides are parallel

b. The opposite angles and sides are equal
c. The diagonals are equal

d. The diagonals bisect each other
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T DWMBTHH60 61FH HAUBTET FnBml?

a. GIGIT LISHSHIBET Benenrm@GLD

b. 1Oy ChmemiBiBeT OBMID LISHHIGET FLODTEGLD
C. cLPeM6V AL L mISH6I6N [HONMRISEHD FLOLDTEGHLD

d. cpewev @I L BibeT GetenBOWITeE B)(H FLodhnnsBLD

In an equilateral triangle whose side is 3v3 cm, the length of its altitude is

QW  FwUHs (WsBsTaNsHaET Lbs  oemey V3 Gl aeflled  oiBe
GHBHITSHIET D616 CTFILII
a.4.5cm b.5.5cm c.10.3 cm d. 9.6 cm

The perimeter of semicircle with radius 28 cm is
SIID 28 OF.15 2 Ll SmIall L SHH6T FHBBeTeUTerS]
a. 88 cm b. 116 cm c. 144 cm d. 56 cm

Three equal circles of radius 3cm touch one another in outside. Find the
area enclosed by them

3.8 SuI(peTen  clpeiiml QUL LMIGS6T  geilewmOwneim  GeueGuw  OHTHHGLITE
SIUBBTEL GULGWD LGSHuller ugliLy

a.10.88cm? b. 1.45cm? c. 6.11cm? d. 29.73cm?

Let ry, 1> are the radius of two circles. If two circles touches internally, then
distance between their centre’s is equal to

ri, T2 eleiuel & Ul LRGN  OLIMIB6T  6T6NIH. ®1H UL M6
® Bnss GHTHLOTEIME. QI L MWHIGSEHHEG DenLGui o 6o HMTLOTEIS

/

r-2

a. ri+n b.r-1 C. 11> d.

Three coins each 2 cm in diameter are placed touching one another. Find
the area enclosed by them (4/3= 1.732) (Approximately three decimal
places)

2 Q&8 ellLgpeen  cpeiB  BTIWMIGET  @aldB &l  GFHTHLTy)
MEUSBLILILLT6L  SleuBmlell  SiewLUBLD  uGHuler uglienud  HTewIsb. (\/_:
1.732) (@zmymwions (peiipl HIFW GBS H(HSHHLOTH)

a. 0.161 cm? b. 0.151 cm? c.0.171 cm? d. 0.181 cm?

A silver wire when bent in the form of square encloses an area of 121
sq.cm. If the same wire is bent in the form of a circle. Find the radius of
Circle.
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@ Geustal sDIMW aumeTHH @Ih FHITS LIBBLULGHDBEH.  FHTHH6T
ugliy 121 5.05.18. 9165 Sllmwl aUmeNHSHl @@ QL LTS WIBBIIT Db
QUL SHIH6I LTID 6T60T60T?

a. 1lcm b.7 cm c. 3.5cm d. 14 cm

Find the area of the following shapes
BIPHEWIL. 2 _(HeudhdHlest LTI SHTewIsb.

2m 2m

a. 26 sq. m b.36 sq. m c.46 sq. m d. 56 sq. m

Find the total area of 14 squares whose sides are 11 cm, 12 cm, ..24 cm.

11 @518, 12 Qg5 ...24 Ggf SFuuBdB USSHIGNTS OBTewIL 14
FFHITRISeMeT CoTSHsH LTI SHT6wIs.
a. 4415 sq.cm. b. 4055 sq.cm. c. 4155 sq.cm  d.4515sq.cm

Calculate the area of a sector whose radius and arc length are 6 cm and 20

cm respectively
oI 6 OF.15 alevevlest memb 20 OF .15 OsmewiBeion el L& Gsmewrll LGSHullesr
LLIeDLIS  SHTE0TE.

a. 120 cm? b. 80 cm? c. 60 cm? d. 100 cm?

What is the area of the given figure?
LNeTQU(HLD GUMTLIL SHFH6T LITLILIGTS)] 61607601
=

4 cm

6 cr.n ] 12 cm 6 cm

a. 98.8 cm? C. .120 cm? c.110.4 cm? d. 132.6 cm?

Area of circle is equal to the area of a rectangle having perimeter of 50 cm
and the length is more than its breadth by 3 cm. What is the diameter of the
circle?

QM el LSHFHar  uglyd, OCFelusSHHET  SMMeTeD  FIOWTH 266N
DFCFaINSHHT FBmene] 50 OF.5. OCFelusHHET HeID DIHVHMSH 3 OF.15
DFHFBOTE 2 _6iTeNgl, 6160 eUl L HHleiT el LD eT6leueney?

a.7 cm b. 21cm c. 14 cm d. 28 cm
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Find the area of a semi circle of radius 28 cm.
D 28 GF.10. 2 _mLuwl DY QUL SHHT LTLILIeT6)| HT6nT

a. 144cm?2 b. 1220 cm? c. 238 cm? d. 1232 cm?

The sides of the triangle are in the ratio 3:4:5. The measure of the largest

angle of the triangle is

R (PECHTMSHIH G LUHEHIGB6T 3 : 4 : 5 6B alFHHH60 2 eileng 61601160
SIFHe WsLUTw CamedHler Siena] Wmg?

a. 60° b. 75° c. 120° d. 150°

Calculate the perimeter of a quadrant of a circle of radius 21 cm.
21 Q&8 SuFpeiten &TevaIl LI UGHUIT SHMBBera| HTew.
a. 65 cm b. 75 cm c.44 cm d. 88cm

The radius of a circular park is 63 m. Find the cost of fencing it at Rs 12 per

meter

R QL ealgel UmsTalal SID 6310 @b, @ WLLHBSG h.12 eisib,
opmendF amnl CGeueld GuUTL G OF6ve) 6T6iTenI?

a. Rs 4752 b. Rs. 7452 c. Rs. 4572 d. Rs. 4672

MENSURATION 2D (AREA) ASSIGNMENT
Answer Key

5 6 10
ClA A
20
C| C A
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